KDC-W808/X689

EXPLODED VIEW (MECHANISM)

A

A (2x8 - N09-4460-05
B M1.7x8.5 - N09-4472-05
Cc M1.7x2.5 - N09-6004-05
E M2x2 - N09-6007-05
F  ¢2x6(BLK)  : N09-6051-05
G 1.6 WASHER : N19-2163-04
H M2x2 - N39-2020-46
J ¢2x3.5 - N09-6108-05
K 2x6 - N09-6155-05

Parts with the exploded numbers larger than 700 are not supplied. 35



KDC-W808/X689

EXPLODED VIEW (UNIT)

X
BATTERY
(Not supplied)

278"

M2x2
M2x2.5
S52x4
M2x2.5
M2x1.8
WASHER
WASHER
WASHER
E RING
E RING
§2x2.5
52x5
M2x10
S3x5
S52x4
S53x8
S3x10
S3x16
52.6x6

<HOVIOUVZErXCIETMOO®>

: N09-4400-15
: N09-4401-15
1 N09-4427-15
- N09-6341-05
- N09-6342-05
1 N19-2154-04
: N19-2155-04
1 N19-2156-04
1 N29-0522-15
1 N29-0523-15
- N38-2025-48
- N80-2005-48
- N09-6343-05
- N83-3005-48
- N09-6328-05
- N83-3008-48
- N80-3010-48
- N83-3016-48
: N86-2606-48

-r— —

245

P
206 @A
Pﬁ?: B@».Q%> ///

235

05
w40

242 231

oy
- Q@@;SO 973 (X16-324)

2727 268 251
271\6? @RZZO *Depends on the model. Refer to the parts list.

36

Parts with the exploded numbers larger than 700 are not supplied.



